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Mark Scheme

Answer 1.
a) The reagents and conditions required for the conversion of butan-1-ol into 1-bromaobutane

are.

¢ Sodiumbromide / NaBr: [1 mark]
e Sulfuric acid /H;504; [1 mark]
¢ Heat underreflux; [1mark]

OR

* Phosphorous tribromid Brz; [1 mark]
* Dropwise addition/add nedropatati

[Total: 3 marks]

e Practicerecalling there ts, conditions, mechanisms and r@a@tion types for all of these
conversions as it will hel
o Itwillalso help with your A-leve

XAMFAPERS "FRACTICE
%ﬂggfhgxam FPapers Practice

Dehydration; [1 mark]

wledge as there willbe more conversions added

The resulting alkene is:
« But-1-ene; [1 mark]
[Total: 2 marks]

« |n this case, the small molecule that is lost will be water
o This means that the alkene formed will be but-1-ene
o But-Z-ene cannot be formed as the hydroxyl group is on carbon 1

For more help visit our website https://www.exampaperspractice.co.uk/
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¢) The second organic product formed when the alkene formed in part (b) reacts with hydrogen
bromide is:

o Z-bromobutane: [1mark]

[Total: Tmark]

¢ Hydrogen bromide willundergo electrophilic addition, adding across the double bond of
the alkene
¢ Inthiscase, the alkeneis but-1-ene
o This meansthatthe lorcarbon-2
o 1-bromobutane will B&the minor product as the primary ocationintermediate is
less stable than the ondary carboc ateflli@t forms 2-bromobutane
¢ Youcoulddeducethatt imbut-1- Id e only feasible alkene
able to produce 1-brom

Answer 2.

a) A suitable reagent and expected obse

+ Reagent = acidified potassium dichromate(V1) solution; [1 mark]

EKAMPA?E:RS@ PRACTICE

ight
24 Exam Papers Practice

+ Reagent = (acidified) potassium manganate(VIl) solution; [1 mark]
« Observation with G = colour change from purple to colourless; [1 mark]
e Observation with H = no visible change; [1 mark]

[Total: 3 marks]

« Compound G is a secondary alcohol which can be oxidised to a ketone
» Compound G will therefore change acidified potassium dichromate(V1) solution from orange to

green
« Compound H is a ketone which will not react with acidified potassium dichromate(V1) solution

* The same applies to acidified potassium manganate(VIl) solution but the colour change will be

from purple to colourless

For more help visit our website https://www.exampaperspractice.co.uk/
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b) A suitable reagent and expected observations are:

+ Reagents = sodium hydroxide
AND
Followed by acidified silver nitrate solution; [1 mark]
« Observation with | = no visible change; [1 mark]
« Observation with J = forms a white precipitate; [1 mark]

[Total: 3 marks]

* The only difference betwe attached to the methyl

group in compound J
# This can be tested using t
has been reacted with so
o A nucleophilic substit
chlorine as a chloride
« Chlorides give a white pre

alide ion test of] olution after the sample

ide solu

xide which releases the

reacton oCcur

hic

c) A suitable reagent and expected obs Ions are:

=XAM-TRAPERS PRACTICE

C G%%?'?réﬂlﬁn with L = effervescence / bubbles of gas form; [1 mark]
[tal{¥brksiam Fapers Praciice

« Compound K is an aldehyde and compound L is a carboxylic acid
« Careful: It is very tempting to put down Fehling's or Tollens’ as your answer but the question
says that the reagent should not convert compound K into compound L
o This means that you must test for the carboxylic acid, not the aldehyde
« This question is testing both your analysis and synthesis knowledge

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 3.

a) The reagents and conditions required are:
Conversionof Ato B

« Ethanol; [1 mark]
« Potassium / sodium hydroxide; [1 mark]
o Heat under reflux; [1 mark]

Conversionof Ato C

¢ Ethanol; [1 mark]
« Potassium cyanide / KCN;
» Heat under reflux; [1 mark

ark]

. a nucleophilic substitution reaction must occur

[Total: 6 marks]

* The conversion of a halog quires an elimination
reaction

« To form the nitrile from a halogenoa

EXAM PAPERS PRACTICE

@51?%%%[ compound C is:
G Bltddenmtemid®pers Practice

[Total: 1 mark]

« Nucleophilic substitution involving CN™ ions is an effective way of extending a carbon chain
+ YWhen naming a nitrile, ensure that:
o Your spelling is correct and you do not miss the '€’ in butane
o You count the correct number of carbons in the main carbon chain
s Many students will incorrectly give the name of compound C as propanenitrile because
the original organic molecule was propane-based

For more help visit our website https://www.exampaperspractice.co.uk/
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c)

1) The structure of compound D is:

OH OH

|

|C, ? H 11 mark
H H

j
. |-|_(_|“,
H

i) The structure of compoun
f

P

| OH

H
EXAM PAPERS PRACTICE
Copyright /

@ 20204 Bl Papers Pradtinekd
“CH

and F are (in any order):

[Total: 3 marks]

For more help visit our website https://www.exampaperspractice.co.uk/
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+ \When an alkene reacts with potassium manganate(VIl) the conditions will cause different
products

» |fcold and dilute a diol is formed

« |f hot and concentrated the conditions are harsher causing the C-C double bond to completely
break

# The O-H groups in the diol formed are further oxidised to ketones, aldehydes, carboxylic acids
or carbon dioxide gas

* The actual products formed depend on what is bonded to the carbon atoms in the alkene

H H H OH
H—C:;—(llzcl‘, —t E—H
VIR

]

EXAM pApEiRs PRACTICE

Copyright
@ 2024 Exam Papers Practice [O] [ O]

For more help visit our website https://www.exampaperspractice.co.uk/


https://www.exampaperspractice.co.uk/

7

EXAM PAPERS PRACTICE

* |nthese conditions, the methanoic acid formed can be oxidised to carbon dioxide and water

H—C + [0] CO, + HO

Answer 4.

a)Thereagents and equationfar the one-step i t-Z-eneinto butan-2-ol
are:

Reagents:

s Steam /watervapour/
* Phosphoric acid /HzPO .
OR
Sulfuric acid / H,SO 4 catalyst; [1

=XAM PAPERS PRACTICE

. CH;CHCHCH3+HED—>CH3CHDHCH2CH3, [1 mark]
Copyright
[BPRPMaksam Papers Practice

e Thereaction converting an alkene directly into an alcohol is hydration requiring steam and a
strong acid catalyst such as phosphoric or sulfuric acid
* Thiscanalsobe described as electrophilic addition

For more help visit our website https://www.exampaperspractice.co.uk/
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b) The reaction scheme, including reagents and conditions for the two step processis:

But—2 —ene ———+2 — bromobutane———butan —2 —ol
Intermediate compound:

e Z2-bromobutane; [ mark]
Step Treagent:

e Hydrogenbromide; [l mark

Step 2reagent:

e Aqueous sodium hydrox
OR
Aqueous potassium hyd

de /KOH (aq):

[Total: 3 marks]
* Thisreactionuses HBrasthe electr
* |tisanelectrophilic additionreac

EXAM.RPARERS.PRACTICE

CﬂWPQWP alkene double bond breaks open in but-1-ene) it can form aprimary and a

© 20PN P ARRI PR ARk

¢ (Resultinginthe)formation of butan-1-ol and butan-2-ol; [1 mark]

involving heterolytic bond fission

[Total: 2 marks]
e But-2-eneis asymmetrical alkene and will only form butan-2-ol
e But-1-eneis notasymmetrical alkene and can form two carbocationintermediates
o Thisresults in the formation of a majorand a minor product
o Youshould be able to apply and explain Markownikoff's rule in writing as well as by
drawing mechanisms

For more help visit our website https://www.exampaperspractice.co.uk/
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d) The displayed formula for both reactions are:

Reactionwith cold, dilute MnO 4~ ions:

1
I

w
-
H

I—Q—O—I
I-—O—
-

Reactionwith hot, concentra MnO 4 ions:

H
| O
H O—

'EXASM APERS PRACTICE
ou should know the reactions of alkenes with both cold dilute KMnO 4 a

1ted KMnO 4
@ cFS(n of hﬁ-_t}concentrifg ed KM-nD with an alkene results in the breaking of the
174 apers Practice

ebon
e Asthereisonly one CHzgroup either side of the double bond, two molecules of ethanoic

acid are formed
o Therefore thereis only one type of compound formed from thisreaction

H H:iH H H

i | O
H q, C=+C cI; H Q‘ZH—CIZ—C\
H ' H H O—H

e Careful: You are asked for the displayed formulas, so the OH group should be drawn as O-

H
For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 5.

a)Asuitable reagent and conditions for reaction 1is:

e Reagents=conc H;S04/concHzPOy; [1 mark]
e Conditions = heat

OR

Pass vapour over hot Al;Oz; [1 mark]

[Total: 2 marks]

e Reactionlis the dehydr
e Dehydrationis areactio
e Adehydrationreactioni
e Lookforthe changesin
conditions

m a larger molecule

le reagents and

b)

i) An equation for reaction 2, using [O present the oxidising agent

Eﬂﬁ“iﬁmﬁ ERS PRACTICE

%ﬁﬁ?ﬁﬁﬁagent and conditions forreaction 2.
© Reaydnksatiundighism s achic o,

OR

Potassium dichromate / K2Cr2O7; [1 mark]
e Conditions =H* / acidified

AND

(Heat under) reflux; [1 mark]

[Total: 3 marks]

Reaction 2 is the oxidation of butan-1-ol to form butanoic acid

Primary alcohols oxidise to form aldehydes and then carboxylic acids

This is the full oxidation, as the reaction scheme does not show the aldehyde has been
produced

If the product was the aldehyde then distillation apparatus would be used, not reflux

For more help visit our website https://www.exampaperspractice.co.uk/
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c) The structures of Uand V are:

e U =CHsCH,CH(OH)CH;5
OR
U = CHzCH,CH5CH,OH: [Tmark]
e V=CHsCH,CHBrCHs
OR
V = CH3CH,CH,CH,Br: [1 mark]

[Total: 2 marks]

¢ Reacting but-1-enewith

o Asecondary alcoho
minor product

o Thisisduetothedi

s The first step of this addi

ry alcohol willbe the

bility ondary carbocation

mechanism s

EXA AP EBS RﬁA@IiCE

d_t!ﬁ%'},?ﬂ & &
© ,‘ZE‘E:T(&QP& ersmEte
L P S HG, b
H—C—C—H
& |
H

Secondary carbocation
forming butan-2-ol

e [tisnot specifiedif a minor or major product is formed so it doesn't matter which one you

choose
e The primary alcohol will thenundergo a nucleophilic substitution reaction with HBr and

form1-bromobutane
e Thesecondary alcoholwillreactin the same way but will form 2-bromobutane

For more help visit our website https://www.exampaperspractice.co.uk/
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d) Suitable reagent and conditions for reaction 3 are:

e Reagent=KOH /NaOH: [1mark]
+ Conditions = ethanol/alcohol
AND
Heat /refiux; [1 mark]

[Total: 2 marks]

+ Heaction 3is anelimination reaction

o Depending onyour

reacting toformbu
Bratommustbeel ted fromthe

* Thisreactionrequirese itions

* |naqueous conditions, substi

or 2 bromobutane are
CH;CH=CHs;)soaHand

coholic conditions

Answer 6.

EXAM PAPERS PRACTICE

Copyright
@ 2024 Exam Papers Practice
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a)The correct skeletal structures for compounds B, Cand D are:

EXAM PAPERS PRACTICE

C%}H’ﬂﬁm A contains a C=0 group (ketone) and a carbon=carbon double bond (alkene)

1) ﬂ@%ﬁc&(ﬁﬁﬂiﬁﬁﬂﬁﬁiﬁfﬁﬁﬁﬂtﬂwill reduce the ketone group (C=0) to an OH

group but will not react with the C=C group
* H-and Niwillreact with the C=C double bond and saturate it
e Cold, acidified KMnO,4 (ag) will react with alkenes to form a diol

b) The colour change is:
* Purpletocolourless; [1mark]

[Total: Tmark]

e Forthereactions of alkenes with cold, acidified potassium manganate, the colour change

is purple to colourless
e The same colour change occurs during the oxidation of alcohols to aldehydes, carboxylic

acids and ketones

For more help visit our website https://www.exampaperspractice.co.uk/
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c) The skeletal structures of both these compounds are:

[Total: 2 marks]

o Thisreactioniscalled th oformreaction
e |t forms asalt and tri-iod =
* The questionstates thatiodine and

products

o Tri-iodomethane has the formula CHIz and is a yellow precipitate

EXAM"PAPERS PRACTICE

Copyoght

© 2044 Fxany Pap%é:’f%cnce )\/\ )\

oxide ions react with compound A to form two

For more help visit our website https://www.exampaperspractice.co.uk/
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d) The name of compound A s

s Pent-3-en(e)-Z2-one
OR
S-penten-Z-one; [l mark]

[Total: Tmark]

¢ Incompound A, there are 5 carbons inthe main chain, therefore you must use the prefix

rbonso "2-one’ willbe

"should be inthe name

EXAM PAPERS PRACTICE

aﬁw@kﬂsms foreach step are: .
© rdeib il BRSBTS

* Reaction 3 = nucleophilic addition; [1 mark]
[Total: 2 marks]

* Propenetopropanolinvolves the electrophilic addition of alkenes
e Compound G hasto be a aketone to form the hydroxynitrile, therefore the mechanismis
nucleophilic addition

For more help visit our website https://www.exampaperspractice.co.uk/
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b) The reagents and conditions are:

Reaction

e Steam; [1mark]
* Phosphoric acid; [1 mark]

Reaction 2

+ Acidified potassiumdichromate
OR
Acidified potassiumma
s Heat
AND
Reflux; [1 mark]

¢ Youcouldalso be aske our n alcohol

¢ Foracidified potassiumdichroma s orange to green and for acidified potassium
manganateitis purple to colourl

e Propan-2-olis asecondary alcohol so will oxidise to form a ketone

EXAM"PAPERS PRACTICE

Copyright
@ 2024 Exam Papers Practice

[Total: 4 marks]

For more help visit our website https://www.exampaperspractice.co.uk/
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The reaction mechanismis:

' . H'
O_
H—(T“,—C—(ll—H — H—(|3—(|:.— —H — H—Cll— —C—H
H H H CNH H CNH

Correct partial charges, rges andlone
Curly arrow fromlone p n CN nucleophi bond; [1 mark]
Curly arrow fromC=0b m; [1
Curly arrow fromlone paifen O atomto H+

[Total: 4 marks]

e Thenucleophilic addition of hydro
process
o HCNisformed bj the reaction of KCN or NaCN with sulfuric acid

EXAM-BAPERS BRACTICE

Cﬂﬁ te
© ust shguw the ne jt_-ivec rge ontheintermediate
. % 26 ﬂ@ﬁ@gﬁ@ﬁ?gé gggg.lljr eE;watom inthe reactive intermediate quickly reacts

with aqueous H* (either from HCN, water or dilute acid) to form a 2-hydroxynitrile

cyanide to carbonyl compounds is a two-step

For more help visit our website https://www.exampaperspractice.co.uk/
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d) 2-hydroxy-2-methylpropanenitrile does not exhibit optical isomerism because:

¢ No chiral carbon: [1 mark]
e As?of the groups /2 methyl groups on carbon atom: [1 mark]

[Total: 2 marks]

 Opticalisomers mustcontain a chiral carbon
¢ Achiral carbonhas 4 different atoms or groups of atoms bonded to it
o In2-hydroxy-2-methylpropanenitrile, there are two methylgroups
# |[tcanhelptodrawoutt [lof=*=*¥ chain
o Innitriles, the CN ca ar

7
HEC’—le
CN

EMMPAPE R=.FRACTICE

lg;b&rgﬂ;r / (potassium) dichromate
24 Exam FPapers Practice

KMnO,/MnQ, /(potassium) permanganate; [1 mark]
o H-,S0O,4/H'/acidified fwith acid

OR

Heat; [1 mark]
» Oxidation; [Imark]

Hs

[Total: 3 marks]

e Anesteris made from a carboxylic acid and alcohol
e Acarboxylic acid cannot be produced from the second molecule whichis a ketone, so the

first step inproducing A must be the oxidation of an aldehyde to carboxylic acid

For more help visit our website https://www.exampaperspractice.co.uk/
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b)
i) The name and structure of the molecule that is produced fromstep 2 are:

¢ Butan-Z-ol: [1mark]

H HHH
Lo

H_(%.__(E_C_C_H :[Tmark]
H H

ii) The name of the type of re
process are

ble reagent forthe

e Reduction: [1mark]
e LiAIH4/ lithium aluminium hydride /
OR
NaBH; / sodium borohydride / sodium tetrahydridoborate; [1 mark]

XM PAPERS PRACTICE

B‘r?r hgtion of aketone produces a secondary alcohol
@ %g ﬁ glilgl IF%‘?ES&O produce the branched chain ester
ium tetra ydnd uminate is much more reactive than sodium
tetrahydridoborate, NaBH,4, so is more dangerous to use in the laboratory
¢ Forthe purposes of this question, both reagents are suitable answers

m tetrahydridoaluminate

For more help visit our website https://www.exampaperspractice.co.uk/
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¢) The synthesis of ethanol from ethane in two steps:
Step 1: Ethane to chloroethane

e Reagent: chlorine / Cls: [1 mark]
e Conditions: UV light / hightemps; [1 mark]
e Reactiontype:(freeradical) substitution / halogenation : [1 mark]

Step 2: Chloroethane to ethanol

e Reagent: agueous sodium hydroxide / NaOH (aq) / agueous potassium hydroxide / KOH
(aq): [1mark]

e Conditionhot /heatund

e Reactiontype:(nucleop

fAux: [1mark]
} substitution /

[Total: 6 marks]

¢ Theconversionof analk
is hard to control the ext
forming, however, hereitisinclude
reactions to solve problems in sy
¢ The type of mechanisms are shown in brackets, but they are not essential for the mark

EXAM PAPERS PRACTICE

Copyright
@ 2024 Exam Papers Practice

practical industrially as it
le products from
test your ability to apply your knowledge of organic

For more help visit our website https://www.exampaperspractice.co.uk/
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d)
i) The names of four possible substances AtoD:

s A-propanone, B =propan-2-ol, C = propene D = 1-bromopropane / 1-chloropropane / 1-
iodopropane; [1mark]

ii) The reagents and conditions for step 4 are:

e Agueous sodium hydroxide / NaOH (aq)
OR
Aqgueous potassium hyd
¢ Heatunderrefiux; [1mar

de /KOH (ag); [1 mark]

[Total: 3 marks]

e Bmustbe secondary al
aspropanoneandBas

e Ccanonlybeathreecarbonalken

* |nordertofinishwith propan-1-o
1-halopropane

EXAM PAPERS PRACTICE

Copyright
© 2044 Exam Papers Practice

Answer

onketone, whichgives A

must be propene
halogen mustbe on the first carboninD, soitwillbe a

For more help visit our website https://www.exampaperspractice.co.uk/
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a) The name and mechanism for the reaction between compound E and hydrogen bromide, HEr
is:

s Electrophilic addition; [1 mark]

o NN

e Curlyarrow fromC=Cto
AND
0+ Hand d- Brshown; [I
e Curly arrow fromH-Brbond to
e Tertiary carbocationidentified an eled; [1 mark]
e Curly arrow fromlone pairin :Br- arbocation; [1 mark]

EXAM ' PAPERS PRACTICE

Gﬂﬂ%@lﬂy group next to the C=C double bond will mean a tertiary carbocation can be
@ 2dd&xam Papers Practice

o These are more stable than secondary carbocations

o Therefore the major product will be 1-bromo-1-methylcyclohexane

For more help visit our website https://www.exampaperspractice.co.uk/
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b) A major and minor product are produced because:

e The majorproductis formed as the intermediate would contain a tertiary carbocation;
[1 mark]

e The minor productis produced as the intermediate would contain a secondary
carbocation; [1 mark]

e Tertiary carbocations are more likely to bond with the Br atom as they are more stable
OR
Secondary carbocations are more likely to bond with the H atom as they are less stable; [1
mark]

[Total: 3 marks]

e Thisis due toMarkovnik rding
alkene

o The H-Brwilladd a

o The Hatomwillmo

atertiary carbocati

o This tertiary carbocationwill f

C of anasymmetric

s the double b

ely forma ted carbon atom leaving

bondwith the Br atom

c) A possible starting molecule is:

EXAM-PAPERS PRACTICE

Cﬂp-yﬂ’ég'l}ltyclchexanol; [1mark]
o 2024 Exam Papers Practice

reagent requiredis:
- ﬁ|203

OR

Conc. acid; [Tmark]

[Total: 2 marks]

e The question asks to suggest a possible starting molecule, however, based on the
reactions you are expected to know at this level, it must be an alcohol

e The onlyreactionyou know which produces an alkene is the dehydration / elimination of an
alcohol

e Thealcohol group canbe placed on either side of where the double bond should be

e Youare not expected to know the reaction mechanism for this type of reaction

For more help visit our website https://www.exampaperspractice.co.uk/
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Answer 10.
a) The mechanisms are:

» Stepl=nucleophilic substitution; [1mark]
» Step 2 = oxidation; [1 mark]

[Total: 2 marks]

e Youshould recognise that the reagents Kz2Cr207 /H2504 in step 2 are used to oxidise an
alcohol

e This thenallows youtofi
whichis nucleophilic su

P Ty ' noalkane to an alcohol,

b)CompoundHis:

* Butanoic acid; [1 mark]

i |s —c e al will Tvr
t
ep2|s carnedout I:ry eatlng under reflux then the resulting compound willbe a

( i¢ acid
i 4tﬁfﬁfﬁa|ﬁ‘§f)%ﬁm%ﬁ|'5’§m an aldehyde would have been produced

[Total: 1 mark]

c) The alkenerequiredis:

o But-1-ene;[1mark]
Thereagentrequiredis

e Hydrogenchloride; [1mark]
[Total: 2 marks]

¢ |-chlorobutane is the minor product made when but-1-ene, anunsymmetrical alkene,
undergoes electrophilic addition
o 2-chlorobutane would be the major product formed
e But-2-ene and HClwill only produce 2-chlorobutane as a product

For more help visit our website https://www.exampaperspractice.co.uk/
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d) The functional group of the final compound in the reaction scheme in part (a) would be:

o Aketone(ratherthana carboxylic acid); [1 mark]
e (As)secondary alcohols are oxidised to ketones when heating under reflux; [1 mark]

[Total: 2 marks]

e Usingthereaction scheme givenin part(a),if 2-cholorobutaneis used thenreactionstep 1
will resultin a secondary alcohol - butan-2-ol
e Heating asecondary alcoholunder reflux will resultin a ketone being produced

Answer 11.

a) Toworkouttheidentity ompoundY:

e M {compoundY)= 0{122'; =102.Dng0I‘1; [1mark]

s Pentanoic acid; [1 mark]

[Total: 2 marks]

EXAM-APERS PRACTICE

e Youknowthatitcontains5C atomssothatisbx12=60g mol of the molar mass
COWW for, leaving 42 g mol!
i ME'F Eféﬁﬁﬂbﬁpa@fg Cltafﬁ&lﬂ ct so must contain at least 10 atom
ese

o IfTOatomwasp nt, 26 gmol” would be due to H, whichis not feasible
o If 20 atoms are present, 10 g mol'would be due to H, which gives a credible product
e This gives the formula to be CsH;p O
e Carboxylic acids contain 2 O atoms and are obtained through the oxidation of primary
alcohols when refluxed with acidified potassium dichromate

For more help visit our website https://www.exampaperspractice.co.uk/
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b) The formula for compound W and formation of compound Zis:

¢ CompoundW is CH;CH;CH;CH,COOCH;CH;CH>CHZCH3+
OR
CigH200z2; [Tmark]
» CompoundZiswater/H;0
AND
Produced by acondensationreaction between pentanoic acid and pentanol / compounds
Xand;[1mark]

[Total: 2 marks]

¢ Youshould be aware tha reaction bet boxylic acid produces an
ester and water

o Inthisreaction, con

s Theformation of the est
o Careful: Acondens
means that a small

¢ The name of compound W is pent

EXAM-RARPERS-PRACTICE

C Dlstlugﬁildehyde assoonasitis produced; [ mark]
e reaction above the boiling point of the aldehyde / pentanal; [1 mark]
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[Total: 2 marks]

acatalyst
ondensation reaction
formed; it actually

e The full oxidation of a primary alcohol such as Compound X will produce
o Analdehyde followed by a carboxylic acid
« |fwewant to prevent this full oxidation, we must alter the reaction conditions and use
different apparatus
o Aliebigcondenseris used forthis purpose
o This piece of apparatus is ideal for the separation of an organic product fromits
reacting mixture
o Itallows the distillate to be collectedin an approximate boiling point range

For more help visit our website https://www.exampaperspractice.co.uk/
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d) The formula of the isomerand the reason it can not react with acidified potassium
dichromate, H*/ K5Cro O is:

CH3zC(CH3z)OHCH,CHgz: [1 mark]
Itdoesn'treact because itis atertiary alcohol; [ mark]

[Total: 2 marks]

Earlier, compound X was identified to be an alcohol with 5 carbons, which givesit the
molecular formula CsH;OH
Fortheisomertonotre dp itmustbe atertiary

alcohol
If you areunsure itis be draw out the
The only isomerwhich g jary alco ut -ol
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